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i_12.85 i_12.69 o6
i 12.84 L 12.69 L o2
L 12.84 i_12.69 L |oe2
L 12.84 {_12.68 ' .1
2.84. 2_68 .61
2.83 L_12.67 ' |o.61
ﬂz.aa L 12.66 L o6t
2.82 | 12.64 ™
L 12.82 i 12.63 |56
L _12.81 {_12.62 L 1.1
L[2.81 ' 12.61 o6
I 12.81 L 12.60 ' |».60
L 12.80 ' |2.59 " lb.6o
L 12.80 \_|2.58 i {>.60
2..129. 2.57. .60

BT (m/s?)
5 4-4 D-D Wt O F KANE FE 5541 K] (Ss—B4) (5/13)

75

6945



(Ss—B5, 7K°F)

(Ss-B5, #AHE)

wazT—) 0.  2.00m
HEMRT—I 0. 10. (m/sec2)
——3.65. 36
—|3.64 |64
i 13.64 ' |s.63
:_13.64 ' |3.63
L 13.64 ' |a.62
L 13.64 ' |62
—3.63 i 13.61 e
i 13.63 __13.61 a6
L 13.62 +13.60  |s.50
L 13.61 _13.59 ' l3.c8
_13.60 {_13.59 ' |3.s8
13,58, asa .54
—13.56 —|3.59 L 13,49
13.53 __13.57 i |3.45
.__13.50 __[3.52 L |5.43
[3.45 . 13.55 1 P
L {3.47 L_13.59 3,40
+_{3.48 i 13.60 | 13,39
13,49 ___13.63 } la.37
L_13.55 ' |3.70 -
jz.sz 3.70 _13.38
-68 ALES 3.43
BAT (m/s?)
2T 0 2.0(m)
HEMR T 0. 10. (m/sec2)
—3.50. 3.41
—q3.50 13,41
+_{3.50 ' 13,41
+_{3.50 ' |3.41
_{3.50 ' 13,41
+{3.50 ' |3.41
—13.49 i_13.41 amo
i_13.43 i_13.41 i |a.28
i {3.49 —|3.40 | |3.28
L_{3.49 | |s.40 1
i _{3.48 {_13.40 L 13.27
3.48. 3.39 3.27
{3.48 L 13.38 L 13.28
—{3.47 L_13.37 L |3.28
L {3.47 L_13.36 L ls.28
t13.46 i_13.34 | la.28
L_{3.45 L_13.33 L 1526
L_{3.45 i_13.32 L la.2s
i {3.45 {_13.31 ' la.28
L_[3.45 L_13.29 L [5.24
L [3.44 L {3.28 L [5.24
3.44. 3.270. 3.23

B47 (m/s?)

5 4-4 D-D [ i 0D e KM BE 53 A7 (X (Ss—Bb) (6/13)

76

6946



(Ss—C1, 7KI)

nE2T—) O 2.0tm)

HEMA T O 20. (m/sec2)
6.58. g.5a
:s.ss  |5.54
+{6.51 ' ls.50
i 16.48 ' 6.4
6.44 \_lg.41
js.ao 5.36
}16.35 ]s.az 6.37
+{6.31 L _ls.27 L s.a
i 16.26 —{6.22 +_l6.24
L_16.21 6.18 ' ls.18
L _16.16 ]5.14 i |s.10
£.0S. 6.10 6.02
—{6.00 —6.07 |—{5.93
—{5.90 _{6.03 ' ls.85
L_[5.77 ,_[5.93 L 15.76
L _|5.66 _15.74 i 1s.70
—{5.61 5.57 i |s 69
L_15.57 5.40 s es
i _15.52 5.32 i |s.62
L_15.48 5.32 i |5.54
L_[5.44 5.37 s .s
S-41 537 5.35
BT (m/s?)
(Ss—C1, #AiE)
a7 0.  2z.0tm
BEMAT—I 0. 5.0 (m/sec2)
2.08. 2. .09
—2.08 ' |2.09
i _12.08 i |2.08
i 12.08 L 12.07
+{2.08 L 12.07
_12.07 {_|2.05
_12.07 \_12.04 .
_12.07 ._12.03 > 17
L _12.07 —{2.02 ' |15
,_12.06 L_12.01 1213
L 12.06 i_{2.00 L 12.00
2 06. 188 2.05
—2.06 —{1.94 2.03
}—2-08 L{1.90 ]2_03
L12.07 L_11.87 L 12.04
L_12.07 ' 11.83 1504
—2.07 {1182 " 1506
L_12.07 L_11.82 ' [5.03
i _12.07 —{1.81 ' |03
L_{2.07 L {1.81 L [2.02
L 12.08 i l1.81 ' |p.c2
2.08. 1.80. 2.02

BT (m/s?)

44 D-D W O Fx KANE FE 5541 K] (Ss—C1) (7/13)

7

6947



(Ss=C2(NS), 7KF)

WA T—IL . 2.0(m)
HEMR T 0. 5.0 (m/sec2)
2.37. 238
—2.32 ' |2.32
t_12.26 ' o286
_12.20 ' 221
_12.19 ' 1217
L 12,17 ' o8
L_[2.15 12,12 > 14
2,13 _12.10 T
i |2.10 +|2.08 L |2.08
,_12.08 . 12.06 ! |2.08
+_{2.05 «_12.05 L |2.03
2.01 2.03 2.00
11.96 \—|2.02 .04
+{1.90 L 11.99 L 1.8
t {1.89 L {1.91 ' 1183
—{1.87 . _|1.88 i 1.7
L 1.85 . 11.83 i |7
_11.83 i {1.78 |
i [1.80 L 11.78 ' 1178
t {1.78 L 11.78 1.80
{ 11,79 {17 ]1.81
82 L.B2 1.82
BT (m/s?)
(Ss=C2(NS), #$AiE)
nazr—)L 0. 2.0(m)
SEMR T 0. 5.0 (m/sec2)
2.46 2.44
—{2.46 12,44
L {2.46 ' 12,44
_{2.46 ' 12,44
L _12.46 ' |2.44
L 12.45 ' p.44
L [2.45 ' 12,44 Y ea
L _{2.45 ' 12,44 ' |oes
12,44 L 12.44 L |o.6s
L [2.44 12,44 o es
(2,43 ' 12,44 ' |pes
2.42 2.44 .63
242 —{2.44 ' 12,64
2.41 L_12.44 L 1r.64
]2.40 L 12.44 ' o.64
L {2.39 _12.43 ' r.64
—{2.39 L_|2.43 L |r.64
L [2.38 _[2.43 ' |o.64
L {2.37 L 12.43 ' r.64
L 12.37 12,42 L 1o.64
L 12.38 2.42 ' lo.64
2.35 2.42. 2.64

5 4-4 X

B47 (m/s?)

D-D 7 @ Fe KNN3 FE 53 AR %] (Ss—C2 (NS) ) (8/13)

78

6948



(Ss=C2 (EW), 7/KF)

RERT—) Q._____2z.0mm
HEMR T 0. 10. (m/sec2)
3.42 2. 43
— 3.40 13,41
i_13.38 ' |3.38
3.35 | l3.35
ja.aa ! 13.33
i 13.30 \ |3.30
L__[3.28 L[3.27 2 an
i_[3.28 L 13.27 i 13.28
i_13.27 —{3.26 L 1327
L [3.27 L_[3.26 L 13.28
L_13.26 ' [3.28 -
s .28 3.23
]Eja {3.26 —|3.20
—3-21 L13.24 13,17
L_{3.18 L {3.20 ' |3.16
L 13.17 +{3.20 i {318
—{3.17 L 3.19 i 13,15
L_13.17 i_13.18 P {315
—{3.16 —3.16 13,15
L 13.15 L 13.15  [s.1s
L 13.15 t_13.14 i 3.1
3.14 3.14 3.15
Bifr (m/s?)
(Ss—C2 (EW), #$HiE)
REZT—) 0.  2.00m
HEER T 0. 10. (m/sec2)
82. B9 e
12.87 ' |2.69
:_12.86 ' |2.69
i 12.86 ' |2.69
L _12.86 L _|2.69
L 12.86 2.8
L _12.86 L |2.68
i_12.86 ' |2.68
i 12.86 ' |68
L 12.85 | |2.68
L _12.85 L |2.67
—12 .85. 2.62
2.84 i 12.68
:Hz.a.s L 2.65
L 12.84 L |2.64
L 12.83 2.63
—12.83 ]2_52
L 12.83 2.61
P 12.82 ]2_50 L
L _[2.82 L 12.59 L |2.55
L _[2.82 L_12.58 i |2.54
2.81 2.57. 2.54

B47 (m/s?)

7 4-4 DD W A O e KME £ 53 A7 4 (Ss—C2 (EW) ) (9/13)

79

6949



(Ss=C3(NS), 7K¥F)

REZ T 0. 2.00m
BEMRT—I 0. 10. (m/sec2)
3.68. 368
—3.62 ' 13.61
i {3.55 ! |3.54
i _13.48 ' |3.48
L13.41 ' |3.38
i _[3.33 ' |3.30
L_{3.25 i_13.21 2 20
13.17 L 13.13 PR
1311 +13.07 +_[3.04
3.06 \_13.02  |5.08
i _[2.93 i _12.98 P |2.02
L _|2.92 2.93. 265
12.84 ' |2.89 1274
—{2.75 L _|2.82 L |2.63
L [2.64 L_|2.69 L |2.52
+—2.51 \_|2.55 i |2.49
L [2.45 L [2.46 i |p. 48
\_{2.40 i 12.36 | 12,43
2.36 L 12.28 { [2.39
32.31 L 12.26 i |53
L 12.27 L {2.27 .94
2.28 2.30 2.33
BAT (m/s?)
(Ss=C3(NS), $RiHE)
®AZT—) O 2.0(m)
HEMR = O. 5.0 (m/sec2)
2.40. 2 .31
—i2.40 _12.31
+_12.40 ' l2.30
_{2.40 ' |2.30
_12.39 ' |2.30
L 12.39 ' 2.30
__12.38 i 12.29 2 19
\__12.37 +_{2.29 ' 18
12.37 +12.29 L |2.18
L 12.36 L_12.28 L o1
y_12.35 ' |2.28 o1
2.34. 2.2 2.17
—12.33 |2.25 L 1215
—2.32 L_12.23 L 2015
L {2.31 L _12.21 L 12,14
+{2.31 12.20 L 1213
—{2.30 L {2.18 L 1213
L_{2.29 i _{2.16 L 1212
I {2.29 L (2.14 b {512
2 —2:12 L 12,12
L 12.27 i_12.10 2.1
228 208, 2.11

BT (m/s?)

5 4-4 [ D-D WFE O R K MHE 4352 (Ss—C3 (NS) ) (10/13)

80

6950



(Ss=C3 (EW), 7/KF)

0. 2.0(m)
—_—

ME2T—)
BEMRT—) 0O 10.  (m/sec2)
3.19, 3.19
—3.17 13,16
i {3.15 ' |3.14
i 13.13 L 13,11
i_3.10 ' 13.08
L _[3.08 ._I3.05
i__{3.05 _13.02 203
{_13.02 _12.99 i |2.90
—2.99 —{2.96 2.96
2% —2-94 e
L _12.92 __[2.92 i |2.90
8 2-90 2.87
(.84 —{2.88 ' |o.82
—{2.80 {_|2.85 L o
L [2.74 L _[2.79 L 12,71
L 12.67 12,70 ' |5.65
{2.61 L_|2.60 L |2.60
\_[2.54 2,51 ' |p.54
i _[2.48 L 12.45 ' |48
L 12.44 12,44 ' |poas
—12.44 2.42 2.40
L 12.45 2.41 2.37
BT (m/s?)
(Ss—=C3(EW), #$hiE)
waT—) 0. 27.0m
BEER T 0. 5.0 (m/sec2)
2.51 2.38
—|2.51 12,38
L_12.51 . 12.38
L_12.51 L 12.37
__12.50 12,37
L 2.50 L |2.37
_12.43 L |2.38 Y e
i__12.43 1236 L 12,14
i _12.48 —|2.38 L 1214
L_12.47 L_12.35 L 12,14
12,47 .__12.35 i |2.13
2.46. 2.34 2.13
Jz.u —2.31 L |2.12
—|2.43 _12.29 12,12
L 12.42 12,27 P
L 12.41 L 12.25 L {210
—|2.40 L_12.23 1210
2.39 _[2.21 | |2.00
]2.39 L {2.19 ' |».08
L_{2.36 12,17 L |o.08
L_|2.35 L |2.14 L |2.08
2.34 2.12. 2.08

BT (m/s?)

55 4-4 [X D-D Wi o> fe KN EE 43 A7 [ (Ss—C3 (EW)) (11/13)

81

6951



(Ss=C4(NS), K¥)

®E2 T 0.  z.0m
HEMRT—)L 10. (m/sec2)
3.69. 3 /9
3.62 ' |3.62
t_13.55 ' |3.54
L 13.47 | |3.48
{(3.41 ' |3.39
{_13.36 ' |3.34
t [3.31 i_13.29 2 09
(3,26 L 13.24 | [3.22
i 13.21 {3.19 ' [5.47
13,17 3.15 { l3.13
13,15 ]3 13 HERT
3.12 3.13 3.08
—{3.09 L 13.13 i |s.08
{3.05 L {3.11 { |3.02
L {3.00 . _{3.05 ' |5.08
L 12.94 ' 12.97 ' |r.0s
L 12.89 L 12.92 L 1».00
| _12.87 i _12.88 | 1508
i 12.85 L [2.84 {1588
L 12.83 L {2.81 L 1284
L |2.82 ' [2.80 L {80
L 282 2.81 o
BAT (m/s?)
(Ss—C4 (NS), #hH)
WA T—I) 0.  z.0m
SEMAT—I 0. 10,  (m/sec2)
B 78 —
+ 2.62 ' |2.78
12,62 ' 2,78
L 12.61 ' |2.78
L 12.61 )
L_12.61 o7
—2-60 12,77 T
12,60 12,77 i |2.a5
i 12.60 o L |p.es
L 12.59 12,76 L |o.04
112,59 12,76 { [>.03
—-=8 2.75 2.93
12.57 2.73 i |o.a2
—2-57 ]2.71 L [5.01
._12.56 2.69 L |».90
L_12.55 12.57 { |90
L 12.55 ._|2.65 { 1589
L 12.54 . 12.63 L |>.88
L 12.53 2.61 { |5 g7
+—2.52 ]2.59 L 12.87
L 12.51 2.57 L |o.88
L lz.sn sS4 2.65

BT (m/s?)

44 D-D W7 D Fe KRN3R FE 53 A %] (Ss—C4 (NS) ) (12/13)

82

6952



(Ss=C4 (EW), 7KF)

ME2 T~ 0. 2.0(m)
GEMAT—I 0. 10. (m/sec2)
4.49. 449
L 4.40 t |4.39
14,30 L l4.29
L_|4.20 { la.10
t{4.10 { |4.09
14,02 {1401
—3-96 i [3.94 aes
L_13.91 i_13.90 i |s.90
L_13.87 —13.86 i |a.86
L [3.83 |_13.82 | |s.81
L {3.78 {_13.78 i |3.78
a2z 3-24 3.70
||3.69 3,72 | a6z
L_13.66 L 13.69 { |s.58
L_13.61 | _[3.63 | |5.54
L_13.55 {_13.54 { |3.48
L [3.49 L 13.44 {1341
L {3.44 {_[3.40 i 1535
L {3.41 L {3.35 { |53
L {3.38 3.31 3.29
3.35 ]3.32 ]3_29
3.34. .33 3.32
BT (m/s?)
(Ss—C4 (EW), #hH)
WEZT—I 0.  2.0tm
BEMRT—I 0.  10. (m/sec2)
3.05 2 g2
—{3.04 L 1> g2
t_{3.04 ' |o.02
t {3.04 L |2.01
t {3.04 L lp.01
{_{3.03 i |2.91
t [3.03 i _12.90 a1
t_13.02 i_{2.89 Y
i |3.01 i 12.88 oo
13,01 \_[2.88 L o6
i _13.00 i _12.86 {1582
2.989. 2.85 2.62
—2.98 {281 ' ooz
—|2.96 L 2.7 " |r.en
{_|2.95 12,74 L o8
{ 12.93 i_12.70 { |5.81
L 12.92 L_12.67 { |5 80
t_|2.90 i 12.63 | |5 80
{12.89 i [2.60 |5 99
L_]2.87 i [2.56 L 2.7
2.84 2.52 2.78
2.82 249, 2.77

BT (m/s?)

#4450 DD WFiE O B AN EE 43 (SsC4 (BW)) (13/13)

83

6953



D0SEEE (om/s?)

43EEﬁﬁ®ﬂﬁ% D R TE il B R OVHI = s 25 AT s B
4.3.1 ANJHhE &Eﬁ%
EEmﬁmﬂﬁ% 28 O NN FEREZ R W T S O FE IS A7 MV &5 4-5 XIZRT,

MAX. =609. 5cm/s2 (19. 27s)
800

600
& 400
T 200
w O AN
§q 200
= 400
-600
-800 : }
0 20 40 60 80 100 120 140
B5f ()
KA-T5 1)
MAX. =440. 4cm/s2 (19.57s)
800
600
& 400
B 200
=0 Wttt
B -200
= -400
-600
-800 | ‘
0 20 40 60 80 100 120 140
B (s)
CATEwA )
(a) o FE R 21 R I T
h=0. 05 h=0. 05
3000 3000
2000 2000
o
—f\l\,\ 1
j/" i T B
1000 pL. \ 1000 o~
F \ J‘/ \h\\
~ A\ Y%
\ //\‘ \\\
~ -
0 0
0.01 0.1 1 10 0.01 0.1 1 10
A (s) FEI# (s)
KI5 1)) (ERE 7 17)

(b)  IMHEEISE X7 b

55 4-5 X E-E Wi o A ) Hi = B o> Jnss B RE LI R e F2 fe OV B S A~ 7 kb
(SS*AM, v) (1/13)
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6954



hnsEEE (cm/s2)

3000

2000

1000

MAX. =385. 3cm/s2 (4. 42s)
800

600
400

200
0 AU A YA AN AP e

-200

-400

-600
-800

DOSEEE (cm/s2)

0 10 20 30 40 50 60 70

BifE ()

OKEJ518)

MAX. =327. 8cm/s2 (8. 56s)
800

600
400

200
S A
-200

-400
-600
-800

DN E (cm/s?)

0 10 20 30 40 50 60 10

BfE ()

(BnE 7 7))

(a)  Jois P B 22 JiE 38 7

h=0. 05 h=0. 05

3000
2000

AVA\,,‘M\A 1000 \/\ .I «

M
/""\..J '\ " J\// N/ A
- ~ A
\xv\\‘“‘- g
0.01 0.1 1 10 00.01 0.1 1 10
A (s) A (s)
K37 1m) (EhET717)

(b)  IMEHPEISE AT b

% 4-5 E-E Wit 0> A ) Hi Z= 8 oD )08 B e 0 R 5% T2 K OVINGER JE T2 A~ 7 kv
(Ss—Bly, v) (2/13)
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D3R (em/s?)

MAX. =406. 6¢cm/s2 (10. 11s)

800
600
S 400
S 200
w0 WWWAWWWWW
200
& 400
-600
-800 |
0 10 20 30 40 50 60 70
B (s)
K5 1)
MAX. =336. 2cm/s2 (6. 87s)
800
600
S 400
T 200
& 0 NN N
& -200 “
2 400
-600
-800
0 10 20 30 40 50 60 70
BE
($R1E H7 1))
(a) 0o i 1 iR 35 T2
h=0. 05 h=0. 05
3000 3000
2000 2000
| H
M
=
1000 N 1000 A
Niss V) A \/f
J\, \
J A V
W \/\/\L —
J
. ~ . ‘M\\R
0.01 0.1 1 10 0.01 0.1 1 10
FE# (s) B (s)
OKEF7 1)) (PRTE.J5 7))

(b)  IMEHPEISE AT b

% 4-5 X E-E Wi o> A J7 i EE Bh o> SN s BE R L BRI K OVINR FE TN AT kb
(Ss—B2y, v) (3/13)
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D3R (em/s?)

3000

2000

1000

MAX.=418. 8cm/s2 (7. 94s)

800
600
S 400
5§ AN
I
200
& 400
-600
-800 |
0 10 20 30 40 50 60 70
B (s)
K5 1)
MAX.=377. 4cm/s2 (10. 54s)
800
600
S 400
T 200
= 0 VWA
& -200 # l V |
2 400
-600
-800
0 10 20 30 40 50 60 70
BE
($R1E H7 1))
(a) 0o i 1 iR 35 T2
h=0. 05 h=0. 05
3000
2000
"
A\ b
=
A 1
M W ¢\r\/\l\/\/ / \
/ \f" A\ \\x
N 0 \\__
0.01 0.1 1 10 0.01 0.1 1 10
T (s) T (s)
OKE-F7 1)) (PRTE.J5 7))

(b)  IMEHPEISE AT b

75 4-5 E-E Wi o> A7 1t ZR B D J)gk 58 e 2 BE B T K OVINIR FE RS2 A~ 7 L

(Ss—B3y, v) (4/13)
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D3R (em/s?)

MAX. =518.9cm/s2 (12.17s)

800
600
S 400
B 200
~ 0 AP A ANANAAN AN NS
200
S 400
-600
-800 |
0 10 20 30 " 50 60 70
B (s)
K5 1w)
MAX.=290. 7cm/s2 (12. 43s)
800
600
S 400
= 200
t ——n«WM«WUWWWWW v
5 -200
S -400
600
-800
0 10 20 30 4 50 60 70
B ()
($R1E H7 1))
(a) 0o i 1 iR 35 T2
h=0. 05 h=0. 05
3000 3000
2000 2000
o
%
A : n
1000 nl M A\ 1000 A
VN\J“V ¥ /
/ J d
4 uV/\ N
\/\\’ _/r’ ,/‘\\
B ~__
0 0
0.01 0.1 1 10 0.01 0.1 1 10
B (s) FE#A (s)
OKEF7 1)) (PRTE.J5 7))

(b)  IMEHPEISE AT b

% 4-5 X E-E Wi o> A J7 i EE Bh o> SN s BE R L BRI K OVINR FE TN AT kb
(Ss—Bdy, v) (5/13)
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D0SEEE (om/s?)

3000

2000

1000

MAX. =440. 6cm/s2 (9. 21s)

800
600
S 400
T 200
2 AP A A
200
5 -400
-600
-800
0 10 20 30 40 50 60 70
B ()
KE-J5 1)
MAX. =346. Tom/s2 (13. 25s)
800
600
S 400
T 200
w 0 PAAMIANAVM AN At
) WWMWMWW \J'HWM!MWM
5 -400
600
-800
0 10 20 30 40 50 60 70
B ()
(ER1E 7 W)

(a)

JOIIER JE BR 1) JE 38 7

h=0. 05
w0
gg
A
vV
AT
‘\\/\\§
0.01 0.1 1 10
FEHA (s)
OK-T7 1)

3000

2000

1000

h=0. 05
Yl
N
" \_|
T\
0.01 0.1 S 1 10
(SR 1E 7 7))

(b)  IMEHPEISE AT b

% 4-5 X E-E Wi o> A J7 i EE Bh o> SN s BE R L BRI K OVINR FE TN AT kb
(Ss—Bby, v) (6/13)
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SR (em/s?)

3000

2000

1000

MAX. =568. 2cm/s2 (7. 55s)

800
600
S 400
= 200
=0 R
B 200
& -400
-600
-800
0 10 20 30 2 50 60
TG
K5 1)
MAX.=281. 5cm/s2 (7. 56s)
800
600
S 400
T 200
M 0 PANMAAN VA AAA——
& -200 ‘
2 400
-600
-800
0 10 20 30 20 50 60
BE
A\
(BR1E 5 1))

(a)  Jois P B 22 JiE 38 7

h=0. 05 h=0. 05
3000
2000
)
A 8
e
gg
8
A 1000
W
N\
Y MJj,\\
< J
—/\ — WV "
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